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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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P3-4

BfiE) | GEBATK () | ERE(EA/K) | ERERE (B/R) | XS ERE

07:05 300 150. 0 2.583 E| {Rig@07:05 Fzh (REERSE)
07:55 300 150.0 2. 583 & 1Ri%e07:55 Fzh (KREAERSE)
08:45 300 150.0 2.583 E[ 1B2i&e08:45 Fz (RFAEREEE)
09:45 300 150. 0 2.583 E| {Ri80@09:45 Fh (REERSE)
10:40 300 150. 0 2.583 El {Ri18@10:40 Fzh (GREERSE)
11:30 300 150.0 2.583 =l {Rige11:30 F31 (GREAERSE)
12:20 300 150.0 2.583 Sl {Rige12:20 Fz (RAERSE)
13:20 300 150. 0 2.583 E| {Rig013:20 Fzh (REERSE)
14:10 300 150.0 2.583 E BRige14:10 Fz1 CGRAERESE)
14:55 300 150.0 2.583 S| {Rige14:55 F3 (KRAERSE)
15:45 300 150. 0 2.583 E BRi%e15:45 Fz1 CGRAERESE)
16:40 300 150.0 2.583 E|  {Ri1g016:40 Fzh (KRE{EREE)
24t 3600.0 (12%) 1800. 0 32 KEC: 2080.0, PH: 6.0

#HEKRECE (1910.0 vs 4357.0) 35




P3-4_0, Day=66 (2025-06-03)
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P3-4

BYiE) | EBAK (R | EHE (EAR/HK) | ERERE (B/R) | XK R

07:50 273 150.0 2.583 = {RRiB007:50 B (RFAEEE)
08:30 273 150. 0 2.583 E  1BRi%e08:30 Bzl (RAEREE)
09:20 273 150.0 2.583 5| {Ri%@09:20 B3 (FAERSE)
10:05 273 150.0 2.583 =l RRi8@10:05 Bz (RFAEESE)
10:50 273 150.0 2.583 =l RRiB010:50 Bzh (RAEEE)
11:40 273 150. 0 2.583 = RiB011:40 Bz (RAEESE)
12:30 273 150.0 2.583 =l {Rige12:30 B3 (RAERSE)
13:15 273 150.0 2.583 (Z=| 1Ri%e13:15 Bz (REAERSE)
13:55 273 150.0 2.583 |Z=| {Ri&e13:55 Bz (REAEZEHE)
14:25 273 150.0 2.583 (Z=| 1Ri&e14:25 Bzh (RAEHRSE)
14:55 273 150.0 2.583 (£ =| {Ri%e14:55 Bz (REAERSE)
15:30 273 150. 0 2.583 |Z=| BRi&e15:30 Bzl (RAERESE)
16:10 273 150.0 2.583 (Z=| 1Ri%e16:10 Bz (FRAMEHSE)
17:00 273 150.0 2.583 (Z=| 1Rige17:00 Bz (RAERSE)
21t 3822.0 (14)%) 2100.0 3EHKEC: 2080.0, PH: 6.0

R ERRETC (600) 57 EA (268. 0) 1N, AIREH T % AREERS %2 X ER
2RI\ L PRIERE336.0 ml.
#[EKECE (1907.0 vs 4607.0) 5



FRV (ml plant-1)

P3-4_0, Day=65 (2025-06-02)
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P3-4

BYiE) | GEBIATK () | EHME (EA/H) | BEBRERE (B/R) | XK R

08:55 273 150. 0 2.583 Z| {Ri%e08:55 B (KREAEZHE)
09:50 273 150. 0 2.583 |Z=&| 1BRi&e09:50 Bzl (RAERE)
10:45 273 150.0 2.583 |Z=| {Ri&e10:45 Bz (GREAERSE)
11:40 273 150.0 2.583 FA| {Ri%@11:40 Bz CGRAERE)
12:40 273 150.0 2.583 FA| 1BRi%@12:40 B3h (RAB{ERSE)
14:05 273 150.0 2.583 FA| {Ri%@14:05 Bz (GRAEEE)
15:30 273 150.0 2.583 FA| {Ri%@15:30 Bz (GRAERE)
23t[1911.0 (TR 1050. 0 3EHKEC: 2080.0, PH: 6.0

##[EKECE (2007.0 vs 5023.0) id 5
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ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-4_0, Day=64 (2025-06-01)
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